5 A = (N\)
— Rk AT | FAHEE R R - 3 F i
=g = N N U IO IV I
b PR RS )\?Lj\m) OO A P eI N ﬁ}\
B | R |8 B e
s | NS £ |[EEET-A] 275 175 50 35 15 FERIN
B B remy 2 — 2 o *® 0] 20 0] 10 10
I e oo ©) AHitA
a— 2 | NER T a— R (56) 10 18 10 =T
. B BOH W% 4) PR N
i e EE UK (4) A
# WO OB OB W W (4) AN
B Moy OB W K 2 (4) A TN
B 3‘%" o oulm o ww wox 160 160 “7| (4) HTA
oo W % H w K 3) ETA
1% R R R (3) HTA
%% MU W K (3) EF N
R 7(4) TN
%o BB H K (3) HTA
B R HEF 3 — A 12 8 Fi TN
BEEL T XA NFER 70 48 5 17
AL I R—3 3 vFEF 25 12 13
R N Al M R i s Bl g0 25 10
oWy g g g | RUEHTRYAYEI-2 5 10
RAYVAY | WEREIAVAY FI=2 50 7 S
¥ # AR=VRHERAY AV bI=2 10 10
¥ & % [ 42
LYl fill % 7 40
51 1t & % R 160 40
4 W % 7 30
Hi & % I 8
o o | | A ( % % ) 13
Eﬂ%nlﬁ%B C ® B ) 23 225 10
¥ - BEEHa — 2 10 EHTNETA
B W OB ¥ o — 2 5 HTNETA
ft % a2 — = 42 8 o WANE i N
£ ¥ oo — 2 7 HFNETA
W % o — 12 TN TN
: nn y B
T . A mop L% 10 45 HEA
it S * B 60 33 24 3 ETAN
oW T % o — 2 2 12 BTN ETA
HEEY AT LT — R 2 2 R NE RN
Llga&ErTtea—x 5] 15 ETNETA
2 a—yFEEa—2 994 58 2 4 HENEHTAN
T | HEHR LI — X 500 500 (31l el 8 HTNETAN
MR A v T%a— 2 2 8 EHTNZETA
fp (L - At a — 2 3 7 R NE RPN
A EBET % — 2 5 5 HTNETAN
HEas %4 v a— % 3 3 HENHETA
£ OB & o ¥ B 70 38 7 7 18 HFNETANBETA
B e & W Bk % R 45 170 27 5 7 6 HEFNETANETA
LR/ S A 55 28 6 5 16 HENETNETA
& s 1,770 1,770 1,090| 209 56 128 108 166 13
(J1:1) HEFPFREBFHRAERPBEOEHET I X, PEEFa—-A0FR PO () o, Y 7a3—R, HROGEKT
EHEHZ R,

GE2)  PREFERPLAR— BRI H AR O Rt 2k, WPz, ALz, AWz, ME2BR ORI HEO A (%), B (I
) 3, ZERBEZRIRT 5720050 TH 5,
(13) TR R—#aRk Wi H A - BWIHAR) 13, TRk TEET 5, B
7o, Fho [ ] ofud [CHRARK #E7H A v a—2) | oZHEAB 2N TRY .
(i 4) RARO—EE G ER) OFEARICIERI N REOZEAE BTN 2850,

_10_



